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Subject: Mathematics             	Grade: 8º        		Period: III	                          Year: 2019
SUGGESTION
Each period, the teacher formulates a problematizing question or situation related to the learning goals that help the student to train him/herself and get ready to prove his/her knowledge and proficiency levels in each area. This process is scheduled for the week in August 12th to 16th. The student should consult the bibliographic references cited by the teacher and turn in three academic products for the period written with basic standards to give account for the skills acquired.
1. [bookmark: _GoBack]Problematizing question:

What is the importance of conceptualizing algebra as a tool that makes it possible to model phenomena of everyday life?

2. Learning Goals
Solve practical problems of everyday life through the process of factoring and probability theory.
3. Academic products
Binomial theorem.
Division of polynomials
Synthetic division
Factoring: Common factor by grouping, Trinomials.
Counting techniques.
Probability of simple events
Inductive reasoning
Implications
4. Bibliographic references  

· Workbook.
· Class notes
· https://www.youtube.com/watch?v=bZoMz1Cy1T4
· https://www.youtube.com/watch?v=-4jANGlJRSY
· https://www.youtube.com/watch?v=KkJGUvCIrNI
· Algebra and trigonometry. Swokoski. Chapter 2.


1. Use synthetic division to find the quotient q (x) and the residual r if the polynomial 2x4+5x3-2x-8 is divided between x+3.
2. Prove that if the square of the sum of two numbers equals the sum of the squares of those numbers, some of these numbers is zero.
3. You have a remote control for a television, which consists of three digits from 0 to 9 in disorder and the channel selection is made with only three digits, also including the three zeros. What is the probability of choosing a channel randomly and that channel 428 be chosen?
4. December 28 is celebrated the day of the innocent saints. For this day the children of Teresa have planned to make a little joke, hiding the keys to her closet. Teresa not finding the keys, asks her children for them, to which her children respond as follows:

Jorge: "I have not hidden the keys ".
Charls: "Andrew is lying".
Andrew: "Jhon has hidden the keys".
If it is known that only one of the children tells the truth, which was the son who hid the keys?
5. Solve the equation x2-5x+3=0 by completing squares to x2-5x and find the two values that satisfy such equation. 
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